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Circle the number that matches one million,
five hundred and sixty thousand, eight
Task 3 Complete the column sum.

hundred and eight.

1,506,808
1,560,808 155,000 but less han 163,000, 2 5057
1,560,880 t /144
1,560,088
1,056,808

CLZ Task 2 ) Task 4 & Task € ?

Use <, > or = to compare these Find the missing numbers Solve these calculations.
, =

numbers.

a) 7,900,490 = + 900,000 + + 9 _4=
284,199 O 99,999
875,300 O 788,488 b) = 8,000,000 + 100,000 + 20,000 + 1+6=
4000 + 500 + 20 + 3
one million Q 100,009 4-10=__
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